\

—
-
\ D

W5 o 390] (693, du Ty of day AiRd Sy o) Zrant 3,9 9 W3S Jgud A0S

Oal b sleoo

50,5 05 AU Cud 1y ol Jol 1 goamnr 319 a5 399 Allw 03 jaw
‘02355 oo dGL il b ol Lo Ll oS (Wi W95 o0

291 ool (245 p0 ST (WS (90l sty
uiyl& ‘w)w‘)W‘JW)“.‘*Z‘S%‘M&;)‘}JB)S")"C"&;J‘
S 195 0] Lowd (o po BT CiS 399 Aluw 03 jw 2890
2N PRI (0 (S0 ST oyl Slokel Lo 4y (30 9
gy 413)5 WU g0 S b 4 & odlgE oo Lowd 51 kS
WS 0355 (0 558 gl 0 g Al Zg) 0530 42 a5 3k &
235 g gl 31 (Gmaldi b 22,5 ol
ciand soge 9 S 03 Lo o po BT ClS .65 g pidS
o2 gn0 Aend Lo 1S 103 090 (o0 Dldiams 2 LG L
Eord 9 B la Culy oid) el Sl gy pouby Lilod (g0 (LS (o5 po B
13,5 Sl Lo JUol 51 jai Jlw g (o o2l 53 420 (ol &5 4 )5 @0 03,5

e— / ——— o> e

@karamatonalshahuda



